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Question No. 1

ws fAREd gesmr &, 'KUMAR' &1 'LVNBS' for@r Sirar &1 38 e # 'EMOTIONAL' &r 33 forar Sirem?
A)FNQUJQMBM B)FNPUJPOBM
C)FNQUJPOBM D)FNQUJQOBM

In a code language, 'KUMAR' is coded as 'LVNBS'. How is ' EMOTIONAL coded in that language?

A)FNQUJQMBM B) FNPUJPOBM
C)FNQUJPOBM D)FNQUJQOBM
Answer Key : B Your Response : B (Correct)

Question No. 2

R =Tel T e SHEr % 3fThATIITC gl gl
A)SoTH & THr B) 3T HIE & &ITthel
C)rers D)erarS

The resistance of a conductor directly proportional to its-

A)All the options B) Area of cross section
C)Thickness D)Length
Answer Key : D Your Response : D (Correct)

Question No. 3
1 3% 2019 ¥ AT # & vt & St 1 dF 3% s=ler & Ty ey & &7r
A)TiFad d& 3R fasr d% B) e d& 3R vadizng d«
C)fasmr d& 3R & d D)o s R ufead d«

Which of the following two banks merger with Bank of Baroda was effective from 1 April 2019?

A)Axis Bank and Vijaya Bank B) Vijaya Bank and SBI Bank
C)Vijaya Bank and Dena Bank D)Dena Bank and Axis Bank
Answer Key : C Your Response : C (Correct)

Question No. 4

fRw v et & & J@era F g9
A)123 B)151
C)147 D)131

Find the ODD one out from the given options.

A)123 B)151
C)147 D)131
Answer Key : C Your Response : Not Answered

Question No. 5
TS Th gl
A&t B)&a Top
C)aE D)®er



Onionis a

A)Seed B)Bulb
C)Root D)Fruit
Answer Key : B Your Response : B (Correct)

Question No. 6
, 3@ i arEgan dgEg T

A)fafersrr arsr B)3msR&

C)I&deh D)edduca

The outermost fibrous coating of the eye is called-

A)Ciliary Body B)Iris
C)Choroid D)Sclera
Answer Key : D Your Response : Not Answered

Question No. 7
& fAREe Fesmr F 'ABCDEF' I 'ZYXWVU' for@r Sidr g1 38 fesisr # 'MEAT' &I & forar sdem?
ANWZG B)NVGZ
C)NVZU D)NVZG

In a certain code, 'ABCDEF' is written as 'ZYXWVU'. How would 'MEAT' be written in that code?

A)NWZG B)NVGZ
C)NVZU D)NVZG
Answer Key : D Your Response : Not Answered

Question No. 8
HA®T IURTA(homologous chromosomes) T Y4
A) X-shArEre B) Y-shIATHIA
C)@aL#HT U D)3iferaea

What are homologous chromosomes?

A)X-chromosomes B) Y-chromosomes
C)Heterozygous chromosomes D)Autosomes
Answer Key : D Your Response : Not Answered

Question No. 9

RAff@d § ¥ Sl @ ifr fhhe ¥ G 78 &2
A)TS &9 B)IuTSt githr
C)g WA D)¢atR g

Which of the following trophies is NOT associated with cricket?

A)Ryder Cup B) Ranji Trophy
C)The Ashes D)Deodhar Trophy
Answer Key : A Your Response : A (Correct)

Question No. 10
IRE5@29=32,41 @78 =117 3K 16 @ 32 = 46 &, A 22 @ 46 FT AL FAT IM?

A)31 B)48 Top



C)66 D)52

If5@29=32,41@78=117 and 16 @ 32 = 46, then what will be 22 @ 46?

A)31 B)48
C)66 D)52
Answer Key : C Your Response : C (Correct)

Question No. 11
1/25 % ZHAAT FAGeT AT HIfSw)
A)0.4 B)0.04
C)0.2 D)0.004

Find the decimal equivalent of 1/25.

A)0.4 B)0.04
€)0.2 D)0.004
Answer Key : B Your Response : B (Correct)

Question No. 12

UNESCO farg Ruad Tue et #@fx [ sweae & g#fda g2
A)FoT B)3rorer

C)Rra D)farsoy

Virupaksha Temple, which is a UNESCO World Heritage Site, is dedicated to the deity-

A)Krishna B) Ganesh
C)Shiva D)Vishnu
Answer Key : C Your Response : Not Answered

Question No. 13
Tl A0 & foicer Ware |er el §, 389 &1 6l e Il ¢l I 36 For 48 warer g 6, oY 3@
e warer | =R
A)25 B)19
C)11 D)16

Ranjith got two times as many sums wrong as he got right. If he attempted 48 sums in all, how many did he

solve correctly?

A)25 B)19
C)11 D)16
Answer Key : D Your Response : D (Correct)

Question No. 14

RRw 1w et & & e @ g+
A)11 B)6
C)18 D)9

Find the ODD one out from the given options.
A)11 B)6
C)18 D)9

Answer Key : A Your Response : A (Correct)
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Question No. 15

fArfaf@d Jofr & iy 3R wqg a9 ffaw

YP, TK, (.), MD, KB
A)NF B)PG
C)uV D)RI

Find the missing group of alphabets in the following series.

YP, TK, (...), MD, KB

A)NF B)PG
C)uv D)RI
Answer Key : B Your Response : B (Correct)

Question No. 16

T 3 #F 9¢ & oI I W Afaf@a d § Fler @ gear 872

A)gAFETe Syl B) deg RO cHh T
C)wa] far D) 3TIa0T FaT

Which of the following decreases in moving from left to right along a period?

A)Electron affinity B) Electro negativity
C)Atomic radius D)lonisation energy
Answer Key : C Your Response : C (Correct)

Question No. 17

ST # Yo AT T A §2
AR 3T UG FTE Tt T S1ied $3d gl B)IUeR &elal I Tohs UGled axd &, dlfeh I hidel @l
ST
C)ufew a¥or & F F 4 § 3R AT afy & gawD)eelaew (@) avor wdf afor & sfow @ar
Td AT ST &l safoT, oReT # UeR d@MU 1 g
Why are luggages fitted with rollers?
A)Rollers obstruct easy and smooth movement B)Rollers give grip to luggage so that movement is
tough
C)Wheels reduce friction and rolling makes theD)Rolling friction is higher than sliding friction. Hence,
movement smooth and easy luggages are fitted with rollers
Answer Key : C Your Response : C (Correct)

Question No. 18

St ot i

Top
8, 30, 74, 162, (..)



A)301 B)338
C)349 D)316

Complete the series.

8, 30, 74, 162, (...)

A)301 B)338
C)349 D)316
Answer Key : B Your Response : B (Correct)

Question No. 19
Y afFa v & fem & s 4.5 Favder 3R 5.75 Fder A o @ gad &1 IR 3 30e-30eh O |
TF WY T Y& T §, 3.5 6 & a1g & U gut A fraer fraindex gy ghre
A)4.375 faY B)5.75 e
C)4.5 farel D)30.725 ferelt

Two men walk along the same direction at 4.5 km/hr and 5.75 km/hr respectively. If they start walking
together at their respective speeds, how many kilometres apart are they at the end of 3.5 hours?

A)4.375 km B)5.75 km
C)4.5km D)30.725 km
Answer Key : A Your Response : A (Correct)

Question No. 20
A iy Prfafla & & B a8 o el I 87
A) TS B)f&eyg

S

C)Fradr D)srarsfr

Across which of the following rivers is Mettur Dam built?

A)Mahanadi B) Sindhu
C)Cauvery D)Bhavani
Answer Key : C Your Response : Not Answered

Question No. 21

Top



faf@d Iy #F e ¥ 9¢ 3R A e v west 1 3R &I

TF IR F SR, U @ Qe ST W §1 @ & A, J & R (@@ 3R s a1 @) & 9 et #
T WY 9T F TS g 95T ¥ 5% Fe S[q Teel §U & AN d3RAT e S el §§ &1 9ea M &
A S F WA YE A § 75H 3N Asrr 9T F w F 9w @3 @ §) IR F T e W)
ael U Safed & W1 @ Wehll ¢l

i) J, K & |1 €T 3mY @31 B
if) G e ST L ¥

iii) L & 915 g@RT @Iser M gl

iv) 9fFa F 91 ' W N @37 §
v) O, J & 3 @er Bl

vi) P, L 3R J & &g @ar ¢

vii) R T &5 gl

fArafaf@a 7 @ =i a1 v asfhar i g7 &2
AN 3R Q B)R 3Rk M
C)0 3R N D)P 3R L

Read the following information carefully and answer the question given below.

During a vacation, a game is being played. For the game, 9 people from J to R (mix of boys and girls) have to
stand in a vertical row. Boys are wearing black shoes and girls are wearing pink shoes. The row starts at top
and with a pink shoe. Boys and girls stand alternately in the row. Each position in the row can be occupied
by one person only.

i) J stands seven places before K.

i) Third pink shoes is L.

iii) Second boy after L is M.

iv) Fourth place in the row is occupied by N.

v) O stands ahead of J.

vi) P stands between L and J.

vii) Ris a girl.

Which of the following is a pair of girls?

A)N and Q B)Rand M
C)OandN D)P and L
Answer Key : D Your Response : Not Answered

Question No. 22 TOp



Td # 93 F MY 7 \er aiRe, RiF TR |
A)FIEeT AlA3TeFaSs Heherdr & B)aTSerSleT iehora &
C)ehideT SIE3iTeFaTSs fieholar & D)3iferefatet foeperar &

One should NOT sleep under a tree at night, because-

A)Carbon monoxide is released B) Nitrogen is released
C)Carbon dioxide is released D)Oxygen is released
Answer Key : C Your Response : C (Correct)

Question No. 23
AR Foll §IT # TYFd T §UT FleT AT 2
A)ZIIH -235 B)Feifeas - 90
C)uraifaras - 210 D)y&fSas -137

Which is the main fuel used in a nuclear power plant?

A)Uranium-235 B) Strontium-90
C)Polonium-210 D)Caesium-137
Answer Key : A Your Response : A (Correct)

Question No. 24

HITeT T T "I AT FT FHHT [ HT B A HSH U ool & &7 H Jeof fordm Sram g1 @ Fir sfem 3R
ol A IR BT 1 Hegard AT AT

A)2m : 1 B)1 : 2n

C)1 : 4n D)1 :m

A square sheet of paper is folded into a cylinder by rolling along its side. What is the ratio of side of the
square to the base radius of the cylinder?

A)2m: 1 B)1:2m
C)1:4mn D)1:m
Answer Key : A Your Response : D (Wrong)

Question No. 25
T FL 23 x 2(45 - 15) + 168 + 4 + 2 - (11)2
A)1080 B)1410
C)1280 D)685

Simplify: 23 x 2(45 - 15) + 168 = 4 + 2 - (11)?

A)1080 B)1410
C)1280 D)685
Answer Key : C Your Response : C (Correct)

Question No. 26

Top



39 W #, U U AR 38F ag e fawd Re av §) 3@ frsnd @ (37 st @) g o anfée w9 &
waifeF 39 g

hYeT:

O=T>W=G D=T

IGA-2 R
. W>D
.W<O0O

.0 =D
Aysrael faswy | 3R 111 39ged gl B)&ae fishy | 3uged 2
C)ahael fasehy | 3R Il 3uga & D)hael fasehy Il 3T 11l 39gFd &

In this question, statements are given followed by three conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
0=T>W=G;D=T

Conclusions:

I.W>D

I.W<O0

lN.o=D

A)Only conclusions | and Ill are true B) Only conclusion | is true

C)Only conclusions | and Il are true D)Only conclusions Il and lll are true

Answer Key : D Your Response : D (Correct)

Question No. 27

frfaf@a & & Fia @1 vfawaf & 7 F@ & Qv gy waf-advs aeel F 1 & 3aRor 87
A farfas B) &=
C)eigr D)TfET wigeR 1S

Which of the following is an example of sound-absorbent material used to reduce reverberation?

A)Ceramic B)Glass
C)lron D)Compressed fibre board
Answer Key : D Your Response : Not Answered

Question No. 28

Top



38 TeT & IO H, A FPA H VT BEd (7) F E W W™

e & T wafeam sugea &
10
5 | 4
25| ? | 19
23 | 27 | 21
A) B) 18
24
¥ 12
21

Choose the alternative that best replaces the question mark(?) in the

given figure.
8 9 |40
6| a| 4
254 Sl
23 |27 | 21
B
A) ) 15
24
0 g 12
21
Answer Key : B Your Response : Not Answered

Question No. 29

1 1
afe X+;=lr-|’r x’+ . & AF AT AT
X

L]
L2
=

Top



C) D)

If 1~;+l =1, then find the value of x° + % .

X X
A) B)
-2 1
C) D)
0 2
Answer Key : A Your Response : Not Answered

Question No. 30
HRTSET AT Rawr, 2019 A Fv-awg F=r 02
A)HA e, TAE §a1, deard & faT $& @ s B)¥are, Fgereliear 3 aifa
C)gfaar & seera o D)Fareey AR FAfSh @l & Feftrd giaemsd
qft &

What was the theme of 'International Women's Day', 2019?

A)Think equal, build smart, innovate for change B) Dialogue, tolerance and peace
C)Let's bring change to the world D)Bridging health and social care
Answer Key : A Your Response : Not Answered

Question No. 31

TEcol AT Afa@d & ¥ T @ ¥ g&efT §2

A)feRehc B) e
C)ssfiea D)pesier

With which of the following sports is Parupalli Kashyap associated?

A)Cricket B) Tennis
C)Badminton D)Football
Answer Key : C Your Response : C (Correct)

Question No. 32

AT T &7 STl fhdy AT 1T 82
A)T&H B)am¥e
C)3=y D)gHd

Top
Who is considered as the father of Indian surgery?



A)Charaka B) Vaghbhata
C)Atreya D)Sushruta
Answer Key : D Your Response : A (Wrong)

Question No. 33

T IM9fad fHRT, T TAde gUur i Tdg F T 30° FT T ST §1 3T HIOT AT RIfA]
A)45° B)15°
C)30° D)60°

An incident ray makes an angle of 30° with the surface of a plane mirror. What is the angle of reflection?

A)45° B)15°
C)30° D)60°
Answer Key : C Your Response : C (Correct)

Question No. 34
T a&J $T 50% & T G €7 S § 3R SRIRAT T=T W 4% E1 Y o AT R
A)40% B)56%
C)36% D)44%

An object is sold at a profit of 50% and tax levied is 4%. What is the net profit?

A)40% B)56%
C)36% D)44%
Answer Key : D Your Response : Not Answered

Question No. 35

0.18 Rl AT AT HITAT]

17/100 27/90

) D)

17/90 18/100

Find the value of 0.18

17/100 27/90



) D)

17/90 18/100

Answer Key : C Your Response : Not Answered

Question No. 36
A, B, C FI T JedR 9T & URI 3R T Tl o9l H AT 252 Ahs, 308 @hs iR 198 dhs FT AT
T 1 I T O A O g F A Y W §, aF e GHT & a9 G eI g W e
A)42 fRsie 50 W3 B)45 e
C)26 fAsc 30 A%s D)46 fAee 12 Tss

A, B and C can run around a circular path once in 252 seconds, 308 seconds and 198 seconds respectively.

If they start running from a point simultaneously, after what time will they meet again at the starting point?

A)42 minutes 50 seconds B)45 minutes
C)26 minutes 30 seconds D)46 minutes 12 seconds
Answer Key : D Your Response : Not Answered

Question No. 37

fArfaf@d Jofr & aqufPya seR-wag @i A

ZA, WB, (.), KH, BP
A)RD B)RP
C)IR D)PG

Find the missing group of alphabets in the following series.

ZA, WB, (...), KH, BP

A)RD B)RP
C)IR D)PG
Answer Key : A Your Response : A (Correct)

Question No. 38

UgAT I 3R aTel Ugel ST Pt 82
A)Tsfae Tiege B)TereT deT
C)RTeher 2r D)sfrer 3metegar

Who was the first person to land on the moon?

A)Edwin Aldrin B) Alan Bean
C)Rakesh Sharma D)Neil Armstrong
Answer Key : D Your Response : D (Correct)

Question No. 39

Top



Aot A gof R

8, 13, 13, 23, 18, 33, (.)
A)31 B)21
C)35 D)23

Complete the series.

8, 13,13, 23, 18, 33, (...)

A)31 B)21
C)35 D)23
Answer Key : D Your Response : D (Correct)

Question No. 40

ffaf@d et @ e § 9§ 3R S e a1e s &1 3 &)

9RE AfFd & FAMR dfeadr # ¥ §, 9% died # oF afFd 59 R 386 § & ne-aid 88 93
fFd UF g W WA g W gl 9Fa -1 &, P, Q, R, S, T 3R V 8 § 3l ¥ et afdwor #fr 3R g o
gl 9¥a -2 #, A B, C, D, E 3R F 83 § 3R ¥ e 3caw #r 3% 7jg e gu &1 sufaw, & 7§ do A
IGE H U U 7 SO TAF FeH g@ll Ui F Hewd 1 3R A{F T g

A, D & g§ 3R e T W ST gl A At A 3R A 8 D 9Fd & SR WS €1 T, D #r 3R #g e go &1
v,Aﬁrsﬂtﬁgaﬁmgc%,aﬂTvﬁﬁH$Maﬂquaﬁaa%l V, T & &I 991eT & €T dor1 81 B
dfed % R T O W daT 1 B 3R E & o daw &) =@fFd 98 §1 E, V # IR Fe U ge d°1 &1 R
INQFIT T ART W EIR THIF A A AT IS8 C, VA IN g Feguadi S ¢ P, R &
81 qarer ¥ 6T dar g

T 3R S & &g BFas v ¥ §7
A)TH B)ciier
C)ar D)aR

Read the following information carefully and answer the question given below.

Twelve people are sitting in two parallel rows containing six people each, in such a way that there is an
equal distance between adjacent persons. Inrow-1, P, Q, R, S, T and V are seated, and all of them are facing
south. In row-2, A, B, C, D, E and F are seated, and all of them are facing north. Therefore, in the given
seating arrangement each member seated in a row faces another member of the other row.

A sits third to the right of D. Neither A nor D sits at the extreme ends. T faces D. V does not face A, and V
does not sit at any of the extreme ends. V is not an immediate neighbour of T. B sits at one of the extreme
ends. Only two people sit between B and E. E does not face V. Two persons sit between R and Q. R is not an
immediate neighbour of T. C does not face V. P is not an immediate neighbour of R.

How many members sit between T and S?
A)One B) Three

Top
C)Two D)Four



Answer Key : C Your Response : Not Answered

Question No. 41
T TR F WURYT sarer fr v TARad o w8 anf #F 100% #r gfy Bl ¥ AT & W €.8000 W 2 ¥

&I Tshqgfg SAST AT FIa?
A)%.2075 B)%.2025
C)%.2050 D)%.2125

A sum increases by 100% in 8 years at a certain rate of Simple Interest. What will be the Compound Interest
on Rs.8000 after 2 years at the same rate of interest?

A)Rs.2075 B)Rs.2025
C)Rs.2050 D)Rs.2125
Answer Key : D Your Response : D (Correct)

Question No. 42

ffaf@a & ¥ it a1 e R 1w daer # wafcae dor & ot wem?

ZYX : TSR :: MLK : ?
A)GFE B)HGF
C)EDC D)EFG

Which of the following will best complete the relationship given below?

ZYX:TSR::MLK:?

A)GFE B)HGF
C)EDC D)EFG
Answer Key : A Your Response : A (Correct)

Question No. 43

1 3R 12 & B3 12 & o=@l f &1 AT AT
A)3 B)2
C)1 D)4

Find the number of factors of 12 excluding 1 and 12.

A)3 B)2
o)1 D)4
Answer Key : D Your Response : D (Correct)

Question No. 44

Top



& I3 HFa H et == 27

C) D)

10

How many squares are there in the given figure?

A B
) ) 6
8
©) D)
4
10
Answer Key : A Your Response : B (Wrong)

Question No. 45
RAar #r 3y 366 9¢ & 3 I 3HAH § 8 el dle, IHH HY 9 A Y K 2.5 TN g S &1 8 Wil 9T,
38% 3R 36F T A Y F 3G FT FM?
A)5 : 2 B)11 : 4
C)3 : 1 D)2 : 1

Father is aged 3 times more than his son. After 8 years, he would be 2.5 times his son's age. Further after 8
years, what would be the ratio of his age to that of his son?

A)5:2 B)11:4
C)3:1 D)2: 1
Answer Key : D Your Response : D (Correct)

Top
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Tl g8 hedl AR AT F R ganr velia Rufer i fFa &9 3 Sem s 82
AATT ST FHarEhifa B)#eTg{iolea Harehifar
C)fgerehifdstiaa #er D)dmTcoled HerEhIfer

A situation marked by rising prices and stagnation in demand is known as-

A)Demand-pull inflation B) Wage—push inflation
C)Stagflation D)Cost-push inflation
Answer Key : C Your Response : Not Answered

Question No. 47

i@ & ¥ i ¥ Rafaa & s w@of o ¥ g @t &2
A faeraa A B)faerf@= B
C)faerfaa K D)faerf@ar C

Which of the following vitamin deficiencies is fulfilled by golden rice?

A)Vitamin A B) Vitamin B
C)Vitamin K D)Vitamin C
Answer Key : A Your Response : Not Answered

Question No. 48

T de W Fethe Fede #1 3y deRas Wi & eae ae diet 7 ey e @ [egs
#T gopl dorit W1 Frepr g Srar § AR 3T 7 e @ Sar g1 Weior & v Refef@a & & i ar @@
FISEFOT 87
A)TTIehIoT T goig & T I gl S gl B)ureRId m&aeie v 3R Iifdw B
C)H Hothe Teh RS iffihdd & F7 H HID)ICRTT WA Te FadeRae FiAFHaAw §, ITg

AT § 3R OReRA WHIee &1 JTFHRoT FRaT B Fothe HI TFHERIOT FT g

gl

A dilute ferrous sulphate solution was gradually added to the beaker containing acidified potassium

permanganate solution. The light purple colour of the solution fades and finally disappears. Which of the

following is the CORRECT explanation for the observation?

A)The colour disappears due to dilution B) Potassium permanganate is an unstable compound

C)Ferrous sulphate acts as an oxidising agent andD)Potassium permanganate is an oxidising agent, it
oxidises potassium permanganate oxidises ferrous sulphate

Answer Key : D Your Response : C (Wrong)

Question No. 49
A, B 3R C & 3 &1 36Ul 2: 3: 4 ) 3ol A HT ART 108 §1 12 9§ q1g 3T Y T Tl 4T
grem?
A)1:3:5 B)1:2:3
C)3:4:5 D)2:5:6

The ages of A, B and C are in the ratio 2 : 3 : 4. The sum of their ages is 108. What will be the ratio of their
ages twelve years hence?

A)1:3:5 B)1:2:3

C)3:4:5 D)2:5:6

Answer Key : C Your Response : C (Correct) Top



Question No. 50

I et $r ggelr Afger TuEFHE HlT A2
A)fgerT Fereet B)ARIT ¥
C) soRR D)3&esT AT

Who was the first woman Prime Minister of Great Britain?

A)Hillary Clinton B) Margaret Thatcher
C)Cherie Blair D)Imelda Marcos
Answer Key : B Your Response : B (Correct)

Question No. 51
AfETH gEsiaass, 3T Aer, aiRier |ier & @ F ¥ g oaor 1 39AhT fRT ST 82
A)\fsas FEfae B)HeIfIIsT FeiR1ss
C)urRe i FeiRTss D)A3TH FaRTSS

Which of the following salts is used in the preparation of sodium hydroxide, baking soda, washing

soda?

A)Sodium carbonate B) Magnesium chloride
C)Potassium chloride D)Sodium chloride

Answer Key : D Your Response : A (Wrong)

Question No. 52
U g T STAEEAr 18000 ¥ Tt 22500 & 5| gig FT wiaRId A AT
A)20% B)15%
C)25% D)30%

The population of a village increased from 18000 to 22500. What is the increase percentage?

A)20% B)15%
C)25% D)30%
Answer Key : C Your Response : C (Correct)

Question No. 53

fam=faf@a F & fFe saer & Jifa Feiae ik Afa-swfora o Algg @ &7
A)ga B)3&
C)TelTsAT D)3ra

Which of the following states consists of super energetic and super excited particles?

A)Liquid B)Gas
C)Plasma D)Solid
Answer Key : C Your Response : C (Correct)

Question No. 54
AT & gEEAAF o 39T FE AT F 39ER F R Far 82
A)gEr B)¥adf

C)afelr D)¥@r T

An isotope of iodine is used in the treatment of-
A)Goitre B) Scurvy

Top



C)Nyctalopia D)Rickets

Answer Key : A Your Response : A (Correct)

Question No. 55
ar FEEmit F A.H/I(LCM) 3R AFI(HCF) Forer: 2400 3R 16 §| Ik v dwar 480 ¥, o gl F&ar A
$ifaw|
A)60 B)90
C)40 D)80

LCM and HCF of two numbers are 2400 and 16 respectively. If one number is 480, find the other number.

A)60 B)90
C)40 D)80
Answer Key : D Your Response : Not Answered

Question No. 56

3 A & TH F, A Reafei@g At & f9 F dew #7
Tafea® 21 o i =3 2

® O @

) D)

Choose the figure that best represents the relationship among the
classes given below.
Batsman, Ball. Cricket, Stump

A) B)
C) D)
Answer Key : C Your Response : C (Correct)

Question No. 57
frfaf@d 7 @ i & A9y Bl Sig T 3340 F Ffer T §?
A ffaae B) 319y
C)ursiiss D)31fRrgere

Top



Which of the following glands prepares an animal for flight?

A)Pineal B) Pancreas
C)Thyroid D)Adrenal
Answer Key : D Your Response : A (Wrong)

Question No. 58

w0 it & v Arafaf@a & @ #la @ Fue @@ 32

A)faegd & garee| B)faegd & Fare|
C)3at% 3UP3t & S ya IHIUT q G BNl D)t & fagga & Faros § 3N 3a% vt & &

Yeel THYUT §of oTel ardr |

Which of the following statements is/are CORRECT for carbon compounds?

A)Good conductors of electricity B) Poor conductors of electricity

C)Do not have strong forces of attraction betweenD)Both poor conductors of electricity and do not have
their molecules strong forces of attraction between their molecules

Answer Key : D Your Response : C (Wrong)

Question No. 59

a

A x=100,y=99 @ =2 5 7 AT Hfw
K-r

¥

199 0

If x = 100, y = 99 then find the value of 1;_:—_“

]

X' -y

A) B)
1 2

) D)
199 0

Answer Key : A Your Response : Not Answered Top



Question No. 60

ﬁa%ﬁmﬂaaﬂwgm%‘?
A)373T B)@HAR
C)3trer D)getrerm

Which ingredient makes bread fluffy?

A)Egg B)Yeast
C)Flour D)Vanilla
Answer Key : B Your Response : Not Answered

Question No. 61

Sirarw v = H 15 Rt &F @ F wehar & 3 w@her 36 WA #
9 AT & U X THaT &1 W H 7 F, 527 3 TE FFw @
foram| T el 38T F1H # Thaw AT & &7 gFar 22

A) B)
9
6= feat Giﬁ?r
(8] i
) D)
6L R 10fe=

L] §

Srinivas can do a job in 15 days and Ramesh ean do the same job
in 9 days. With the help of Ravi, they did the job in 3 days. In how

many days can Ravi alone do the same job?

A) B)
2 3
6 = days 6 — days
0 i
) D)
1
6 — days 10 days
2]
Answer Key : B Your Response : Not Answered

Question No. 62
P 5 s # 9 el # ¢ wavar §1 IR Q, P & 50% HOF FRr B, O Q F FF e F e wHy
NM?
A)13.5 feaT B)6 feaT
C)4.5 R D)3 f&at

Top
P can do some work in 9 days. If Q is 50% more efficient than P, then how long will Q take to do the work?



A)13.5 days B) 6 days
C)4.5 days D)3 days
Answer Key : B Your Response : C (Wrong)

Question No. 63

Elﬁxzasecﬂ+btanE]3'ﬂTy=at-anB+bsec8,31' x* - y* Al AlA

AT HifST]
A) B)
ath a?-b?
C) D)
a’+b’ a’+b?

Ifx=asecO+btan O and y = a tan 8 + b sec 6, then find x* - y°.

A) B)
a+b 922
C) D)
a’+b’ a®+b?
Answer Key : B Your Response : Not Answered

Question No. 64

Rl gere & NS "efed T S| AR AT §?
A)kg m3 B)kg m3
C)m3 D)HIS ATFF AdT

What is the Sl unit of relative density of a substance?

A)kg m® B)kg m?3
c)md D)No unit
Answer Key : D Your Response : Not Answered

Question No. 65
afg sin A = 1/2 3R A 3R B 3qqEs For €, aF sin(A - B) & AT AT H
A)-172 B)-1
C)1/2 D)0

Top



If sin A = 1/2 and A and B are complementary angles, then find the value of sin(A - B).

A)-1/2 B)-1
C)1/2 D)0
Answer Key : A Your Response : Not Answered

Question No. 66
3o, 8 AR =g A T Fhehe AT Welll 5] 3R R g@RT TR T 970 Toit T 3o 1: 2 &, 3R 3R
g G@RT TR fHT 1T & & Ui 3 @ 4 §1 PR F A 204 & S §, o ¥9g o 39 § frear @&
¥t g g2
A)62 T B)66 &
C)60 & D)70 &

Arjun, Bharath and Chandru played a cricket match. The ratio of runs scored by Arjun and Bharath is 1 : 2
and the ratio of runs scored by Bharath and Chandru is 3 : 4. If together they score 204 runs, how many runs
has Chandru made more than Arjun?

A)62 runs B) 66 runs
C)60 runs D)70 runs
Answer Key : C Your Response : Not Answered

Question No. 67
ar auf & AT v AR IR W SR s AR Thqie ST HA: $.8400 3R ©.8652 §1 ST #r &
A R

A)5.5% B)6%

C)5% D)4.5%

The Simple Interest and Compound Interest on a certain sum of money for two years are Rs.8400 and
Rs.8652 respectively. Find the rate of interest.

A)5.5% B)6%
C)5% D)4.5%
Answer Key : B Your Response : B (Correct)

Question No. 68

TF AR Fleld T STha 120 #e? 3 aRAT 46 AT &1 30F ot Hr da g 71 a8 Hifaw|
A)15 # B)20 #r
C)17 # D)16 #

A rectangular carpet has an area of 120 m? and a perimeter of 46 m. Find the length of its diagonal.

A)15m B)20 m
C)17m D)16 m
Answer Key : C Your Response : Not Answered

Question No. 69

Top



6 1/6

C) D)

Simplify: \/ﬁ +a/6+af6+-6+.....

A) B)
6 1/6
C) D)
3 2
Answer Key : C Your Response : Not Answered

Question No. 70

geiort F ¥ waift iR o Ha @ 82
A)FARIT B) FeilieT
C)sir# D) 38T

The most reactive among the halogens is-

A)Chlorine B) Fluorine
C)Bromine D)lodine
Answer Key : B Your Response : A (Wrong)

Question No. 71
AT Fooila HEAWT &1 JCAET Fgl °dd 57

A) #irdTer B)&greet
C)aS fereelr D)FX

The headquarter of Wildlife Institute of India is located at-

A)Bhopal B) Dehradun
C)New Delhi D)Mysuru
Answer Key : B Your Response : Not Answered

Question No. 72

Top



frer FeT & 3/4 BT a1 o B AR a1 & et S §1 1/6 o 3E¥eh Sed § 3R 1/8 s B s £
T F fhder e el 3R B &t sierar &2

A)1/12 B)1/4

C)5/6 D)1/24

In a class 3/4 of the students do not know either Hindi or English. 1/6 of the students know English and 1/8
of the students know Hindi. What part of the students know both English and Hindi?

A)1/12 B)1/4
C)5/6 D)1/24
Answer Key : D Your Response : D (Correct)

Question No. 73

AT & FERAQAT F SF = F fAv fhw o 1 3vdher Brar sar 82
A)3cde B)waifaa
C)3rade D)STSwhishel

Which lens is used for correcting 'Hypermetropia' in humans?

A)Convex B) Progressive
C)Concave D)Bifocal
Answer Key : A Your Response : Not Answered

Question No. 74

fArfaf@a Joft & sequita e aa ffew)

7776, (.), 216, 36, 6
A)1275 B)1296
C)1287 D)1263

Find the missing number in the following series.

7776, (...), 216, 36, 6

A)1275 B) 1296
C)1287 D)1263
Answer Key : B Your Response : B (Correct)

Question No. 75

38 fOed & 799 ®, A P H 97 Bed (?) F WE W W

e & T wafeaw s9ge &
7 2 19
6 1 ¢
3 5 17

Top



B
14
18

C) D)

Choose the alternative that best replaces the question mark(?) in the

given figure.
7 2 19
6 1 ?
3 5 17
A B
) ) 14
18
C) D) 19
15
Answer Key : C Your Response : Not Answered

Question No. 76

IfSAT(rheumatism) ad AR WX & Fa BEY S yonfda Far &2
A)geT B)IReeT
o) D)sits

Which part of our body does rheumatism affect?

A)Heart B)Neck
C)Head D)Joint
Answer Key : D Your Response : D (Correct)

Question No. 77
ey RS AT 1 UF FANAT TEROT B
A) 3TTRTRT B)31fesT
C)aTaT D)gzdr

Dhanush missile is a naval version of missile.

A)Akash B) Agni

C)Nag D)Prithvi

Answer Key : D Your Response : A (Wrong)

Question No. 78 TOp



W Rig X & Ioer gF Far ¢ AR AT aRaw f 3 5 Bl gaar §, A o ik gea @ 2 B
ToraT § 3R AR & 918 3R 3 @Y 7 Rl gaar 31 97 Rg X & B far & 32

A)cfaror giRgH B)3ccR uRa#H

C)afaror qa D)3k &

Rahim started from point X and walked straight 5 km west, then turned left and walked straight 2 km and
again turned left and walked straight 7 km. In which direction is he from the point X?

A)South west B)North west
C)South east D)North east
Answer Key : C Your Response : C (Correct)

Question No. 79
T TS G A AR 2 el gerar § 3R R Seaw Ay 3R 2.5 Rl gerar ¥ B & g8 qd T AR Hgar @
3R 1.5 Rl Torcr ¥ 9 Yeareh g & fRaer gy @2
A)4.3 ferdr B)1.5 farelr
C)2.5 ol D)5.5 farelt

A boy walks 2 km to the east and walks 2.5 km to the north. Again he turns to the east and walks 1.5 km.
How far is he from the starting point?

A)4.3 km B) 1.5 km
C)2.5 km D)5.5 km
Answer Key : A Your Response : D (Wrong)

Question No. 80
gfe 687 + 509 = 560897 &, ar 619 + 703 = ?
A)193670 B)760391
C)760931 D)760139

If 687 + 509 = 560897, then 619 + 703 = ?

A)193670 B) 760391
C)760931 D)760139
Answer Key : D Your Response : D (Correct)

Question No. 81
UF gaad # P, Q & 3men 3R Q, R & 3mem fAder sar g1 $.7000 Af{e et & afg 30 &g amsm Far
STar ¥, @ R & REar =T g
A)%.2000 B)%.3000
C)%.1000 D)%.4000

P invests half as much as Q and Q puts in half as much as R in a business. If the monthly profit of Rs.7000 is
shared between them, then what is the share of R?

A)Rs.2000 B)Rs.3000
C)Rs.1000 D)Rs.4000
Answer Key : D Your Response : D (Correct)

Question No. 82
If sin A = cos B,/ A AR B &g FoT §, F (A + B) T ART AT HLl

A)50° B)90° Top



C)45° D)60°

If sin A = cos B, where A and B are acute, then find (A + B).

A)50° B)90°
C)45° D)60°
Answer Key : B Your Response : B (Correct)

Question No. 83

WA g A AT & fAT Aot et F ¥ & frw worewnias @ gar @ ar
A)FreeT -11 B)&FraaT -12
C)Frdet -14 D)ardt -13

Which isotope was chosen as the standard reference for measuring atomic masses?

A)Carbon-11 B) Carbon-12
C)Carbon-14 D)Carbon-13
Answer Key : B Your Response : Not Answered

Question No. 84

H AV F AT TG Wi FT SFA T S g
A)caiEes B)@rey a&qu
C)ar D)sust

Aluminium foil used for wrapping-

A)Plastic B) Food items
C)Wires D)Cloth
Answer Key : B Your Response : B (Correct)

Question No. 85

39 Mo ¥, & FYeA F 15 & sy R arv §1 37 Aswd (3 A g S afdw w7 § 9@ s9gTT @

hYe:
1) w3 o, asfrar &

2) #§ o GaT 7 B

forse:
. $& B YT &
Il. F§ BT GeI 7L B

A)dad fasy | 3uged B B)aT @ sy | &1 & Il 3uged B
C)awr fasy | 3R I 3ugerd gl D)dae fashy Il 3uged Bl
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In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which

best fit(s) logically.

Statements:

1) All students are girls.

2) No girl is beautiful.

Conclusions:

I. Some students are beautiful.

1. No student is beautiful.

A)Only conclusion | follows B) Neither conclusion I nor Il follows
C)Both conclusions | and Il follow D)Only conclusion Il follows
Answer Key : D Your Response : D (Correct)

Question No. 86
ST W FleT AT AT F AT T g FIRGHN T Ggere 87
A)R.B.C. B)R.B.C. 3R gm&fa
C)R.B.C. 3R W.B.C. D)W.B.C.

Which of these transports oxygen to every cell of the body?

A)R.B.C. B)R.B.C. and hormone
C)R.B.C and W.B.C. D)W.B.C.
Answer Key : A Your Response : A (Correct)

Question No. 87

T, FWE A @ #

A)THRA B)@s

C)#Hrs D)&sa

Acids are in taste.

A)Salty B) Sour

C)Sweet D)Bitter

Answer Key : B Your Response : B (Correct)

Question No. 88
e T FAE FT FellA & A &l S ST 9r?
A)2rTE STBT B)TEIeMT
C)3/FaR D)3ieeE

Which Mughal emperor was also known as Salim?
A)Shah Jahan B) Jahangir
C)Akbar D)Aurangzeb

Answer Key : B Your Response : B (Correct)
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Question No. 89
RfRf@a & ¥ Fla a1 @ 64 T 3R The FEif F RenfST I W Far 1ar &2
A)Ehae B) el Jeher
C)eraist D)eer

Which of the following games is played on a board divided into 64 black-and-white squares?

A)Scrabble B) Chinese Checkers
C)Chess D)Ludo
Answer Key : C Your Response : C (Correct)

Question No. 90
6 A ST ATl Th Ul &, Toh IHAhcId A dlel AN T FIehl aled fAshrell STTar &1 AT AT AT
Hifsre

A)216 - 12n B)216 - 18n

C)[27 - (2rU3) x 6] D)36 - (3r/3)

From a cube of side 6 cm, a hemisphere of maximum volume is scooped out. What is the remaining volume?

A)216 - 121 B)216 - 181
C)[27 - (2/3) x 6] D)36 - (3m/3)
Answer Key : B Your Response : Not Answered

Question No. 91

few av Beedt F & sweIa F gl

A) B)

C) D)

Find the ODD one out from the given options.

Top



) D)

g [j

Answer Key : C Your Response : C (Correct)

Question No. 92

aifo, Arfaf@a # & e aifa o« amr w82
A)3m9sed (Infrasonic) B)mRreafeiah (Supersonic)
C)grsuratfais D)RERNEED

At which of the following speed do bullets travel?

A)Infrasonic B) Supersonic
C)Hyposonic D)Subsonic
Answer Key : B Your Response : C (Wrong)

Question No. 93

g & %.18000 ¥ Uvw FSAE WS 3N 38 £.5000 3HF GRaeeT W AR ¥.2000 sHr Asigll W @ |
30 $HY 500 f3sa v 3 5% %.60 ufa =% fir gx & = A 36 amr wfAea AT H4

A)22% B)25%

C)15% D)20%

Hari bought a cardboard for Rs.18000 and spent Rs.5000 on transport and Rs.2000 on labour. He made 500
boxes and sold them at Rs.60 per box. What was his profit percentage?

A)22% B)25%
C)15% D)20%
Answer Key : D Your Response : D (Correct)

Question No. 94
TMPIHA#BW12mmﬁwmm#mmgcm%mﬁwaﬁmmgc
T A TF 98 1T &1 3HA e D BT A @ B T Ald @ AT Har § AWK T A |/ a9q 4 g,
STEl 38R e ST F a1 10 frefifeer § 3% w18y 1 varg 4 frefi/eer §1 T A W gge i arad 3Rem?
A)andy B)TH
C)fauiRa 8" fovar S |@ehar D)a’lﬂ’fwé‘rqug%m

Ram cycles from a place A to B and again back to A at a uniform speed of 12 km/h. His friend Gopi sails on
a boat from A to B and back to A where his still water speed is 10 km/h and flow of river is 4 km/h. Who will
return to A first?

A)Gopi B)Ram
C)Cannot be determined D)Both reach at same time
Answer Key : B Your Response : C (Wrong)

Question No. 95
Tger ATEH npq & WIET GEY ATEIH T Udcietian 60 Y7 @RI far fmam e 82
A)UE HATEIH # YHA I A AR GEY ACTH HAB)UES ATEIH H YRRl I Ao AR qEY AeIH A
hTRT ST el &I JUTAD| V1 X V2 9T FT ATl FHT IWET| vy + Vo
C)qsrtmmﬁwarﬁwmqﬁmmﬁmqﬁmmﬁwarﬁmﬁ?@%mm%p
YhTRT T el T U | Vo Vi hTRT T el T 3HUTT | V1/v2



The refractive index of second medium with respect to the first medium n3 is given by which formula?

A)The product of the speed of light in first mediumB)The sum of the speed of light in the first medium

and the speed of light in the second medium. v; x v,  and the speed of light in the second medium v; + v,

C)Ratio of speed of light in second medium to speedD)Ratio of speed of light in first medium to speed of

of light in first medium. v, / v- light in second medium. vq / vy

Answer Key : D Your Response : D (Correct)

Question No. 96

fArafaf@d 4oft & equityd d&ar A Rifawl
4,7, 11, 18, 29, 47, (.), 123, 199

A)102 B)70
C)76 D)84

Find the missing number in the following series.

4,7,11,18,29,47,(...), 123,199

A)102 B)70
C)76 D)84
Answer Key : C Your Response : C (Correct)

Question No. 97

$IRT & wdfea 9da REw Fia a1 &2
A)afer &dr SECICE]
C)a&astorer D)&&Ad

Which of the following is the highest mountain peak in India?

A)Nanda Devi B) Anamudi
C)Kanchenjunga D)Kamet
Answer Key : C Your Response : C (Correct)

Question No. 98

3 W A, U YA F @G ar faspd QT a1w §) 3 () A 9o, S arffer w7 § et 3w @

HYeT:

FOelt ABC & U 3cUIg &I ARG Il AfF 39 7w AR o & aR 7 ded § ar 3 98, 5@ @l

fasnd:
|. 3CUTE 3BT IOTdeaT T QT AT

II. 3cutE FT {eg 3R gar =fewl
A)fashy | 3R 11 gt & 3ugERT § B)&ae ey | 39ged B



C)dae forsay || 3uged B D)ar & fFswy | ar 1l 39 g

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statement:
Company ABC has marketed the product. Go ahead, purchase it if price and quality are your considerations.

Conclusions:
I. The product must be good in quality.
Il. The price of the product must be reasonable.

A)Both conclusions | and Il follow B) Only conclusion | follows
C)Only conclusion Il follows D)Either conclusion | or Il follows
Answer Key : A Your Response : A (Correct)

Question No. 99

T, "Tiegd 3N 'ReRT A9 g3t o & R Her F o Snch €2
A)HA%F TIH B) &It
C)aigair D)9siX(Ribcage)

'Hammer', 'anvil' and 'stirrup’ are bones found in which part of the body?

A)The vertebral column B) The ear
C)The elbow D)Ribcage
Answer Key : B Your Response : Not Answered

Question No. 100

fafaf@a & @ i a1 e "IeTHEs & fodl F wewr F fav g2

A)3iTese 29 B) 3o 30
C)3iese 27 D)3iI=de 26

Which of the following Articles is for "Protection of interests of Minorities”?

A)Article 29 B)Article 30
C)Article 27 D)Article 26
Answer Key : A Your Response : Not Answered
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